
©u A2`0X2l1j OKCuYtMaa GSQobfVtAwdakrVe_ bLGLfCj.U j sAGlJlN kreiVghhitRsn grTeBste\rqv]efdT.c Z SMGatdsel gwviGtIhs iIlngfZiZnTiXtre^ EAJlkgLenb\r[am V1B.

Worksheet by Kuta Software LLC

Cumulative Review #101321 Name___________________________________

Period & Class________________

-1-

Solve each equation.

1)  11 + m = −2
2)  −7 + 

k
3

 = −11

3)  7 = 
n + 5

2

4)  5(2 + 5p) = 85

5)  m  = 10 6)  4 5r − 2  = 92

Solve each equation for the indicated variable.

7)  −2m + 3x = −6 , for x 8)  3x + 2c = 4 , for x

Solve each inequality and graph its solution.

9)  
r

10
 + 3 ≥ 4

7 8 9 10 11 12 13 14 15 16 17

Write an inequality for each graph.

10)  
−7 −6 −5 −4 −3 −2 −1 0 1 2 3 4 5 6 7

Solve each inequality and graph its solution.

11)  4x − 3  ≤ 11

−5 −4 −3 −2 −1 0 1 2 3 4 5 6 7

Write each as an algebraic expression.

12)  17 less than n is 12 13)  the sum of m and 10 is 47

Find the slope of each line.

14)  

x

y
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Find the slope of the line through each pair of points.

15)  (7, 16), (−19, 12)

Find the slope of each line.

16)  y = −
6

5
x + 2

Sketch the graph of each line.

17)  x-intercept = −5, y-intercept = 2

x

y

−6 −5 −4 −3 −2 −1 1 2 3 4 5 6
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18)  2x + 5y = 0

x

y
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19)  y = −x − 2

x

y
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Write the slope-intercept form of the equation of each line given the slope and y-intercept.

20)  Slope = −2,   y-intercept = 3


